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1. BrahMos missile successfully test fireq Navy in the month of March 2023 falls in
the category of ___.
(A) Ballistic missile
(B) Noneofthese
(C) Supersonic cruise missile
(D) Subsonic cruise missile
2.  The seat of the Court of Intemational Court of Justice is in
(A) Paris, France 2
(B) New York, U.S.
(C) Hague, Netherlands
(D) London, UK.
3. Kuchipudi dance form originated in which State of India ?
(A) Orissa (B) Tamil Nadu
(C) Kerala (D) Andhra Pradesh
4. How many spokes are there in the Ashoka Chakra ?
(A) 28 (B) 32
© 24 (D) 22
5. Atomsaremadeupof . .'
(A) Electrons _ __ (B) Allofthese
(C) Protons (D) Neutrons
6. °fﬂ!¢'?fbhaﬂ'lower of India i.e. Lotus is
s | g g "4 v
(D) Saraca Indica
7. Who was the First Woman Chief ice of Gujarat High Court ?

(A) Justice B.M. Trivedi
(B) Justice Leela Sheth i
(C) Justice RM.Doshit
(D) Justice Sonia Gokani ;
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India has received Rafale fighter jets froy, which country .
(A) USA. (B) France
(C) Germany % (D) Russia

Who is the current Cabinet Minister of Hegjhy and Family Welfare, Union of India
(A) Dr. Harsh Vardhan

(B) J.P.Nadda

(C) Dr. Bharat Pawar

(D) Dr. Mansukhbhai Mandaviya

What is the full form of CVRDE ?

(A) Computerised Vehicles and Radar Development Establishment
(B) Combat Vehicles Research and Defence Establishment

(C) Combat Vehicles Research and Development Establishment
(D) Combat Vehicles Radar Development Establishment

Who is the current Governor of the Reserve Bank of India ?
(A) Mr. Shaktikanta Das

(B) Mr. D. Subbarao

(C) Mr. Urjit Patel

(D) Mr. Raghuram Rajan

Who is the author of the famous book, “The Pilgrim’s Progress’ ?
(A) John Bunyan

(B) J. Krishnamurthi

(C) William Shakespeare

(D) John Milton

Who is the author of famous Gujar ati novel - ‘Saraswatichandra’ ?

(A) Goverdhanram Tripathi
(B) Jhaverchand Meghani>=
(C) Pannalal Patpl

(D) Raghuvir Chaudhary

Who is the current Finance Minister of Gujara; 9

(A) Mr. Bhupendrabhai Patel
(B) Mr. Raghavjibhai Patel
(C) Mr. Kanubhai Desai

(D) Mr. Rushikeshbhai Pate!
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Who is the current Chief of Army Staff, Indig 9
(A) General Dalbir Singh Suhag

(B) General Bikram Singh

(C) General Manoj Pande

(D) General M.M. Naravan¢

Which is the largest planet in Our Solar syster 9
(A) Jupiter (B) Mercury
(C) Mars (D) Venus

Which planet is also known as ‘Red Planet’ in our Solar system ?
(A) Moon (B) Jupiter
(C) Earth (D) Mars

Who was the first woman to travel in Space ?
(A) Valentina Tereshkova

(B) Allen Victoria

(C) Kalpana Chawla

(D) Nilofer Christian

How many permanent members are there in the Security Council of UN.O. ?

Aa) 1 B) 5
© 4 D) 3

Rohit Sharma has played IPL for which out of the following team/teams ?

(A) Both Deccan Chargers apg Mumbai Indians
(B) Guijarat Titans

(C) Deccan Chargers

(D) Mumbai Indians

Who was the first Indian male to
(A) Shailesh Kilaji

(B) None of these

(C) Mihir Sen

(D) Bejoy Jain

SWim across the English Channel ?
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22. Who was the first Jain Tirthankar 9
(A) Neminatha
(B) Shantinatha
(C) Rishabhanatha
(D) Parshwanatha

23. Who is known as ‘Father of modern
=l anatomy’ 9
E(A;")) mm mVesahus (B) Plato
(D) Aristotle

at ) s
(;I;:e ::::‘:i::;ung Girl” is an autobiography of
(B) Steffi Graf
(C) Anne Frank
(D) Lata Mangeshkar

25. In 2022, whi
b , which country emerged as the world’s largest producer and consumer of
(A) China
(B) Germany
(C) Brazil
(D) India

26. Ihm of ‘Apple’, a multinational company is located in
(A) Singapore (B) California '
(C) New York (D) Paris

27. Who is known as the Father of nuclear program in India’ 7
(A) Dr. A.P.J. Abdul Kalam
(B) Dr. A.S. Shetty
(C) Dr. Homi Jehangir Bhabha
(D) Dr. Vikram Sarabhai

28. What is the chemical name of Vitamin - C?

(A) Biotin (B) Niacin
(C) Calciferol (D) Ascorbic Acid
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Which film won the best picture Oscar Award in 2023 2

(A) Everything Everywhere All 8t Once

(B) RRR
(C) Tar
(D) Triangle of Sadness

Adi Sankaracharya was born in
(A) Haridwar (B) Puri
(C) Dwarka (D) Kalady

i

Which actress won the Filmfare Award in the category of best actor in a leading role

(female) for role in the film Gangubai Kathiawadi ?
(A) Alia Bhatt

(B) Bhumi Pednekar

(C) Sara Ali Khan

(D) Deepika Padukone

Hirakud Dam is located in which State of India ?
(A) Maharashtra (B) West Bengal
(C) Odisha (D) Madhya Pradesh

Who administers the oath to the Pregigent of India ?
(A) Prime Minister of India

(B) Chief Justice of India

(C) Chief Justice of Delhi High Court

(D) Governor of Delhi

Where was Asia’s first Export Prog,
Ssing Zone set up ?
*) g Zon P

(B) sp
© enzhen

D) Karachi
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BRICS is an acronym for which €conomieg 9

(A) Brazil, Rome, Indiana, China and South Africa

(B) Britain, Russia, India, Ccanada and South Africa

(C) Brazil, Russia, India, China and South Africa

(D) Brazil, Romania, Indonesia, China and South Africa

. First battle of Panipat was fought between
(A) Akbar and Rana Pratap

(B) Shivaji and Shershah

(C) Babur and Ibrahim Lodi

(D) Babur and Shershah

. Choose the correctly spelt word.

(A) camradry
(B) camradery \
(C) camaraderie @
(D) camraderie

. - Lin Dan is associated with which sport ?
(A) Badminton

(B) Karate

(C) Boxing

(D) Table Tennis

Which player won the Orange Cap in Mens IPL 2023 ?

(A) David Warner

(B) Shubman Gill :

(C) Virat Kohli iﬁ
(D) Cameroon Green

Who was the first recipient of the Rqp::
a Chandrak ?
(A) Sundaram Jitram Suvarn

(B) Ramanlal Desai
(C) Ravishanker Raval
(D) Jhaverchand Meghani
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Who was the only Indian Govemor Genera] of Independent India ?
(A) Chakravarti Rajagopalachari

(B) Jawaharlal Nehru

(C) Lord Mountbatten

(D) S. Radhakrishnan

Which player holds the world record for highest individual score in an inning of a
test match ?

(A) Sir Donald Bradman

(B) Kumar Sangakara

(C) Sachin Tendulkar

(D) Brian Lara ﬁ
Who happens to be India’s first individual Olympic Gold Medalist ?
(A) Sushil Kumar (B) Vijender Singh

(C) Abhinav Bindra (D) Neeraj Chopra

Headquarters of UNICEF is located in

(A) Paris (B) New York

(C) San Francisco (D) London

In which State, Sriharikota is located, wl;iéh is home to Space Centre known for
launching of Satellites ?

(A) Madhya Pradesh (B) Kerala
(C) Orissa (D)  Andhra Pradesh

Who currently holds the post of Cabinet \Minjster for Commerce and Industry ?
(A) Mr. Dharmendra Pradhan

(B) Ms. Nirmala Sitaraman
(C) Mr. Piyush Goyal
(D) Mr, Prahlad Joshi

Pulitzer prize is given for excellence iy

(A) Journalism and the arts Bs o
(B) Software development

(C) Medicine

(D) Sports

10 102
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62. Which is the State flower of Gujargy 9

(A) Rose B) ¢
: ham
© Marigold D) Lomspa

) 330 ::;‘;x:g;::;;z:us Gujarati noye) ‘ghadram Bhadra’ ?
) Umashanker Joshi
(C) Pannalal Patel
D) Ramanlal Neelkanth

64. Who 1S tegal'ded as the ‘Father of Indian Industryv 9
(A) Dhil'llbhai AIIJbanl (B) Jam lal Baj aj
(C) Jamsetji Tata (D) Ratan Tata

65. How many test matches did Sachin Tendulkar play ?
(A) 204 (B) 187

(C) 201 (D) 200 %

66. ‘Payyoli Express’ is the nickname of

(A) P.T.Usha (B) Zaheer Khan
(C) Mary Kom (D) Milkha Singh
67. Buenos Aires is capital city of which country 2
(A) Peru (B) Indonesia
(C) Argentina (D) Brazil
68. Asoka was a wise King.
In the above sentence, King is 2
(A) Both Proper noun and Commor BOHR
(B) None of these
(C) Proper noun

(D) Common noun

69. Choose the feminine word for ‘puke’ out of the given options.
(A) Dutches (B) Duchess
(C) Dukess (D) Dukeen

102 11
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ﬂ ,!2 14 7, -

@ = JL ('” o -*;Wu
© 27 @ 20 \ 11

w/ -5/%'

% 4 o b, ]):be,éJ
40960, 10240, 2560, 640 @4&0‘ 10 19, (L - y
Find the wrong number in the above series. K ’ 9 gL
(A) 200 (B) 2560 1A
(©) 640 (D) 40 % / by
o e
s

How many times do the hands of a clock coincide in a day ? /6\9 e
@ 22 ®) 24 524 a3

Y \2
© 20 @) 21 Wy e
’bp)(e %{

A bus covers a distance of 2924 kms in 43 hours. What is the speed of the bus ? ﬂ

(A) 72 km/hr (B) None of these

(©) 68 km/hr (D) 60 km/hr

If 20 men can build a wall 56 meters long in 6 days, what length of a wall can be

builf by 35 men in 3 days ? oo L6416 FEEX T D 2,

(A) 52meters - ‘(B{ 49 meter ij /fji, 2

(C) 48 meters (D) F5meters 35"3

Which actor played the role of ‘Kattappa in the Hindi movie ‘Baahuball - The . 2

Beginning’ ? 2% x cx ¥

(A) Subbaraju (B) Prabhakar ""%}“ > A

(C) Sanjay Dutt (D) Sathyaraj ” 5;%

The famous Hindi song - “Mere Desh ki Dharti Sona Ugle’ is of which movie ? ¥

(A) Pardesh (B) Purab aur Paschim g8 e i éi_;j.ﬁ

(C) Upkar (D) Kranti e . -gé x5

Who said ‘If You judge people, You haye g time to love them' ?

(B) Nelson Mandela e D) .

(C) Martin Luther King Jr. 3 2

(D) Mahatma Gandhi SO Len 8] Y
leo 2N 9§ 35
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A batsman makes a i P

78 score of 87 ptins in the 17" inning and thus increases his average

* by 3. What is his average after 17t jp,..:
% (A). 42 runs er 17 Inning 7 /3-’. o - MQ ‘/réi;j

(B) 35 runs
(C) 39 runs (D) 40 runs ,*lg (Jf;‘-")_"j'f o
79. The body weight “ .SHM;? f?h
. The wei i : i
, 91 kg \’ghat if:i.::vslx boys is recorded as 54 kg, 64 kg, 75 kg, 67 kg, 45 kg and i
s g erage body weight of all six boys ? 6
1 (zé) 28 B) 70 Ly
L e
: i i U~/
4 | 80. i pherson on tOl.H ha§ < 360 for his daily expenses. If he extends his tour for 4 days, i
;5 d:ysas to cut his daily expenses by ¥ 3. The original duration of the tour was
) : 340 XA: 243 (et L) o4
i 0 24 Gy
g L (D) 20 . %1;«,, il > 1

3¢ 81. A man spends one-quarter of his income on food, one-fifth of it on rent and

remaining which is ¥ 231 o other commodities. His total Oiglcogr?e is T

Z? 9‘) (A) 420 (B) 460 d>351% t 22
A% (©) 400 (D) 410 o 155 £ PL K 3LES
: ¢ 232 k65

(2 > {3
N 275 18
lﬁZ. The total monthly salary of 4 men and 2 \gomen is Z 46,000. If a woman earns ¥ 500
more than a man, what is the monthly salary of a womarg';?w Qyo b o2 '

(A) T8,000 ° (B) 9,000 Sl § 4o
5 I o L e K T o
y 3:} (©) 76,500 @) That0 brrEtiies

/E; d and Deepak started 2 business investing % 22,500 and ¥ 35,000 respectively.

"5 Dut of a total profit of T 13,800, Deepak’s share is T __ g?g ; o 6

' 9,600 s > 2

(A) 8,400 (B) 9, =

(C) 5,400 D) 7,200 Ve

. machine for ¥ 8,500. She incurred a loss of 15% in this

84. i washin : ;5 e
Supriya.:gldsg e had bought the machine at what price ? anse
"A’m{ P B) % 10,500 Zj,,‘flﬁ
(A) ’ (D) % 12,000 5

© T 10,000
earns 20% profit by selling each T.V. set for ¥ 14,400. If

85. A television manufacture = e 15%, wha S vrie
p is increased y %, what should be the new selling price in
the production €08t 1> . 50/ 9

of a set 8O as 10 gain ®) 215,870 ?ié_:’ § ’3—:__:1_-
i . :ig'ggg (D) ¥ 15,400 5 T el
7\ A » g iy ; ' :
iﬂ. P L - fg’z&‘is' n @ 240 (aty) > 352X 3
. o2 6 oAtV T g “.2‘ 3o +lhtom 3592

LU =
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The smallest number of 3 digits beginning with 3 and ending with 5 will be __
(A) 30005 (B) 30025 -

{©) 31005 (D) 30015

Which bowler holds the record for India for most wickets in test cricket ?
(A) Harbhajan Singh

(B) Javagal Srinath ;

(C) Anil Kumble %

(D) Kapil Dev

Which is the capital of Portugal ?
(A) Canberra (B) Havana
(C) Lisbon (D) Thimpu

Which is the capital of Kerala ?
(A) Kochi

(B) Palakkad

(C) Shillong

(D) Thiruvananthapuram

. One of the common sounds that a horse makes is called

(A) Beat (B) Neigh
(C) Hoot! (D) Quack

A car company sold 150 cars in a special 6 day sale. Each day, the company sold 6
more than the previous day. How many cars were sold on the 6™ day ?

(A) 50 (B) 60

(C) 35 (D) 40

% 6,500 were divided equally among a certain number of persons. Had there been
15 more persons, each would have got ¥ 30 Jess. Find the origina‘{ number of persons.

(A) 65 (B) 48 T
(C) 50 (D) 55 'lf g‘s,?_-
1397 % 1397 = 7 oo s
0 OO
(A) 18,36,2619 (B) 2031,19 ozl{ 1Y hoo
(C) 19,51,609 (D) 19,81,709 o L $33o
o0 9319

14 /_____loz
G 1 €609
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Xl;lcl; ::: has the World’s First Tram Library ?
(B) Dehradun 6 fa
(C) Kolkata 3bo %%
(D) London %ﬂo '/Q/ﬁ
32!
Astigmatism is a problem related to . 3o /g‘;};’
(©) Brain [ olan Tiag e
Full form of SRAM is g
(A) Slow Random Access Memory Qé + % ¥ % )
(B) Secure Random Access Memory 7L >
(C) Super Random Access Memory 5 LioX r L6
(D) Static Random Access Memory =~ 2022 7 5 2%
& W, £ b
~ Atsea level, water boilsat
(A) 91 degree celsius (B) 101 degree celsius t%é{:
(©) 99 degree celsms (D) 100 degree celsius W f} , -
2
If ROME is written as MORE, then lgAR.E is writtenas . 2‘{2
(A) RAED (B). Salk
(C) RDAE Py

Pointing towards a person, o man said to a woman, ‘His mother is the only daughter
of your father’. How is the womatiifélated to that person ?2 4o 25 %

(B) Wife ol B X3
- Momerter ?,L. (D) Sister [ '”—}“—6
Birth anniversary ongtaj; gubhas Chandra Bose, 23" January is celebrated
(A) Parakram Diwes Ade 13 ¥
ot L &

(B) Sena Diwas 26+ o (216)- 3"°=Mfz+u‘+2u-’ —% 15

(C) Vijay Diwa
(D) Himmat Dive® Feaztlthe ~3Ax> 32X Y L2 T

eteois | 30 )2t =lbhen
58.44,4"”" i o Ly gy — Hgeee “i/_

=5 ru.e
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